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Adding and Subtracting American Lengths Name:
Solve each problem. Answers
1) 4feet8inches- 2feet 11inches =
1.
2) 5feet 3inches- 3feet 7inches =
2.
3) 3feet7inches- 1foot8inches =
3.
4) 2feetlinch- 1foot 11inches =
4.
5) 4feet4inches- 2 feet 5inches =
5.
6) 5feet6inches- 2 feet 10inches =
6.
7) 4feet6inches- 1foot 8inches =
7.
8) 2feet5inches- 1 foot 9inches =
8.
9) 4feetlinch- 1foot5inches =
9.
10) 3feet 6inches- 2 feet 9inches =
10.
11) 2feet 7inches+ 1 foot 8inches =
11,
12) 4feet 6inches+ 3feet 11inches =
12,
13) 5feet 1inch + 4 feet 7 inches =
13.
14) A4feet 3inches+ 1foot 8inches =
14,
15) 4feet linch+ 1 foot 3inches =
15.
16) 5feet 5inches+ 2 feet 8inches =
16.
17) 2feet 3inches+ 1 foot 10 inches =
17.
18) 3feet 8inches+ 1foot 9inches =
18,
19) 2feet 6inches+ 1 foot 7 inches =
19,
20) 5feet 10inches+ 1 foot 11inches =
20.
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Solve each problem.
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Adding and Subtracting American Lengths Name. Answer Key
Answers
1) 4feet8inches- 2feet 11inches = 1ft 9in 56in - 35in
1. 1lit 9Qin
5feet 3inches- 3feet 7 inches = 1ft 8in 63in - 43in
> 1t 8in
3feet 7inches- 1foot 8inches = 1ft 1lin 43in - 20in
3 1f 1lin
2feet linch- 1foot 11 inches = 2in 25in - 23in
4. 21in
4feet 4inches- 2feet 5inches = 1ft 11in 52in - 29in
5 1f 1lin
5feet 6inches- 2 feet 10 inches = 2ft 8in 66in - 34in
6. 2 8in
4 feet 6inches- 1 foot 8inches = 2ft 10in 54in - 20in
7 2t 10in
2feet 5inches- 1 foot 9inches = 8in 29in - 21in
8. 8in
4feet 1inch- 1foot5inches = 2ft 8in 49in - 17in
9. 2ft 8in
3feet 6inches- 2feet 9inches = 9in 42in - 33in
10. 9in
2 feet 7inches+ 1 foot 8inches = 4t 3in 3lin+ 20in
11. 4 3in
4 feet 6inches + 3feet 11 inches = 8ft 5in 54in + 47in
12 8t 5Hin
5feet 1inch + 4 feet 7 inches = 9ft 8in 61in + 55in
13 9t 8in
4 feet 3inches + 1 foot 8 inches = 5ft 1lin 51in + 20in
14. 5# 11in
4feet 1inch + 1 foot 3inches = 5ft 4in 49in + 15in
15. 5# 4in
5feet 5inches + 2 feet 8inches = 8ft lin 65in + 32in
16. 8t 1lin
2 feet 3inches+ 1 foot 10 inches = 4t lin 27in + 22in
17. 4t lin
3feet 8inches+ 1 foot 9inches = 5ft 5in 44in + 21in
18. 5 5in
2feet 6inches+ 1 foot 7inches = 4t lin 30in + 19in
10. 4t lin
5feet 10 inches+ 1foot 11 inches 7 9in 70in + 23in
20. 7 Qin
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